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Transiatlons of Exponential Functions
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The equation f(x) = (a)b" ~h + Kk is the translation fu%lon that helps us understand how changmg
' values impacts the resulting graph.

GUIDED NOTES —- Lesson 6-1b

h tells us about herizontal movement. (afp 5\@Y\a§> - [p p o , |> |
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Given the graphed parent function f(x) = 2%, perform the following translatlons vz S nzupt?tf,
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— hor\w(\m\ M Exponentlal Transformations Worksheet

1} Descnbe the transfonnatmns that map t,he function y — 2% onto gach of the fnllﬂwing fu_izcﬁon&.. |

a)y=2-2 b)y = 2*+2 d)y =302 +1
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X-Create a sketch of each graph for each eguation in question 1. {a table of values may help}
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3} Write the equation for the function that resulm from each transfnrmanan applied to the base function

y =5
a) translate doewn 3 units b]‘shift right 2 units
~ =X '
lj b - _g ' j =L X
¢} translate lefti unit ' d) shiftup 1 unit and left 2.5 units
L ,
. _ Xt3 : - - ¥ rls
j = g | ﬂ c +\
4) Write the equation for the function that results from each transformatlon applied to the base functian
fw =
a) reflect in the x- axis {vertical reflection) B b stretch vertically by a factor of 3 .
Y o= ANK |
y=-(zy -2(%)
* ¢) stretch honzontally by a factor of 2.4 *d) reflect honzontally, stretch vertically by factor of 4

Y= (5™ y =gy
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uickly sketch the following exponential functions by transforming the key pomts and/or asymptote.

a)y =33 42 by= —-G)x c)y=§(2")43' ¥ dy= G)_zx
Pght2 peArcnon Shrini- Worionial swetda 2
ve 2 | Aowin 2 honzont=zl wﬂwhm




